The national highway association is studying the relationship between the number of bidders on a highway project and the winning (lowest) bid for the project. Of particular interest is whether the number of bidders increase or decrease the amount of the winning bid.
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a. Determine the regression equation. Interpret the equation. Do more bidders tend to increase or decrease the amount of the winning bid?
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a. Since the slope is negative, we can conclude that more bidders tend to decrease the amount of the winning bid. 
For x = 7, y = -0.4667*7+11.236 = 7.9691

b. A new entrance is to be constructed on the Ohio turnpike. There are seven bidders in the project. Develop a 95% prediction interval for the winning bid

[image: image3.emf]Scatter Plot

y = -0.4667x + 11.236

R

2

 = 0.499

0

2

4

6

8

10

12

0 2 4 6 8 10 12

X--->

Y--->

[image: image4.wmf]å

-

-

+

+

±

-

2

2

2

,

2

)

(

)

(

1

1

ˆ

x

x

x

x

n

s

t

y

i

g

n

e

a


t0.025, 8 = 2.306

The prediction interval is: 
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c. Determine the coefficient of determination. Interpret its value

Coefficient of determination= 0.499. This means that only 49.9% of the variation in y values is explained by the variation in x-values. The remaining remains unexplained.
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The prediction interval
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